Séquence de Nombres Linéaires (C)

Remplissez les nombres qui manquent de chaque nombre linéaire.

! ! !
6778

Différence commune:

| |
6743 6738

! ! !
4593 4493

Différence commune:

| |
3793 3693

| | |
7949 7899

Différence commune:

|
7549

! ! !
3543

Différence commune:

| | |
6083 6033

Différence commune:

| | |
3320 3245 3170

Différence commune:

Différence commune:

| |
2383 2373

! ! !
8726 8651 8576

Différence commune:

! !
8501 8426
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Séquence de Nombres Linéaires (C) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
6783 6778 6773

| | |
6768 6763 6758

Différence commune:

-5

!
6743

|
6738

| | |
4593 4493 4393

Différence commune:

| | |
4293 4193 4093
-100

|
3693

| | |
7999 7949 7899

Différence commune:

| | |
7849 7799 7749

-50

|
7549

| | |
3543 3518 3493

| | |
3468 3443 3418

Différence commune:

-25

|
3318

| | |
6133 6083 6033

Différence commune:

| | |
5983 5933 5883

-50

|
5683

| | |
3320 3245 3170

Différence commune:

| | |
3095 3020 2945

-75

| | |
2413 2403 2393

Différence commune:

| | |
2383 2373 2363
-10

! ! !
8726 8651 8576

Différence commune:

! ! !
8501 8426 8351

-75
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